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The slope of the line through A and B is % S
. 2 (138 ot
The slope of the line through C and D is e

Since the slopes of these two lines are equal, the lines are parallel.

The slope of the line through 4 and B is cobawde poidig —l.
4—(-2) 6 2
: : . 6-(-2) B ;
The slope of the line through C and [ 13—3—-(—1-:; Sy 2. Smce the slopes of these

two lines are the negative reciprocals of each other, the lines are perpendicular.

We use the point-slope form of an equation of a line with the point (3,- 4) and

slope m = 2. Thus y= y=mx— x),
and Y Ut acee o)
‘].'+4=21'- G
y=1r_ lﬂl

We first compute the slope of the line joining the points (2,4) and (3,7). Thus,
e
Using the point-slope form of an equation of a line with the point (2,4) and slope
m = 3, we find
D= 8(x =)
y=3x— 2.

We use the slope-intercept form of an equation of a line: = pux + b, Since m = 3,
and b = 4, the equation is y = 3x + 4.

We write the equation in slope-intercept form:

2x—3y=-08=0
-3y==-2x+9
y==2x-13

From this equation, we see that m = 2/3 and b= — 3.



45. We first write the equation 2x— 4y 8 =0 in slope- intercept form:
2x—4y-8=0
4y=2x-8
y=sx- 2
Now the required ling is parallel to this line, and hence has the same slope. Using
the point-slope equation of a line with m = 1/2 and the point (- 2,2), we have
y=2=4[x~(-2)]

y=1x+3.

46. We first write the equation 3x + 4y - 22 =0 in slope-intercept form:
3x+4y-22=0
dy=-3x+22
y=-$x+2,
Now the required line is perpendicular to this line, and hence has slope 4/3 (the

negative reciprocal of — 3/4). Using the point-slope equation of a line with m = 4/3
and the point (2,4), we have

i i)
y=1x+{

51. Since the required line is parallel to the line joining (=3,2) and (6,8), it has slope

groigiereagi 62
6-(-3) 9 3

We also know that the required line passes through (=5,-4). Using the point-slope

form of an equation of a line, we find
2
y=(-4) =5 (=5

; : impnall I
or y=§x+¥-4, that is y=45x-%

M=

53. Since the point (=3,5) lies on the line Jor + 3y + 5 =0, it satisfies the equation.

Substituting x =—3 and y = 5 into the equation gives
3 +15+9=0, or f=38.

63. Using the equation £+§=1 witha=-2and b=—4, we have -—-2 =]
2 4

a
Then
""1‘.]1"2411':3
2y=-8-4x
y==2x-4.

83. Writing each equation in the slope-intercept fonm, we have

e (b, #0) and y:—ﬂ—zx—ﬂ—: (B, = 0)

bl ‘E"I bZ b!
Since two lines are parallel if and only if their slopes are equal, we see that the

: : £ i i
lines are parallel if and only if——-=—-% or a;by — bjas =0.
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